S029: Voltage

Answers: 1. D, 2. D, 3. A

1) What is the voltage in a circuit with a current of 3 A and a total resistance of 
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?
	A.
	0.25 V
	
	B.
	4 V

	C.
	15 V
	
	D.
	36 V


Source: MCAS: 2006, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
2) The power of a toaster can be determined if which of the following values are known?
	A.
	The dimensions of the toaster
	
	B.
	The resistance of the toaster’s insulation

	C.
	The voltage applied to the toaster and the toaster’s temperature
	
	D.
	The current through the circuit and the voltage applied to the toaster


Source: MCAS: 2008, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
3) Mr. Jenkins constructed a circuit consisting of a variable source, wires, and a resistor. In order to triple the amount of current, how should he change the voltage of the source?
	A.
	Make the voltage three times larger
	
	B.
	Make the voltage one-third as great

	C.
	Make the voltage nine times larger
	
	D.
	Make the voltage one-ninth as great


Source: MCAS: 2006, Science and Technology/Engineering – High School
http://www.doe.mass.edu/mcas/testitems.html
_1355570116.unknown

